Sanitation barriers to interrup!
between facces and mouth arc:

1. Fingers

2. Flies
3, TFood
4. Filth
5, TFluids

Choose the correct answer from the options

given below:

(A 1,23 and 5 only

(3) 1.2and3 only
(C) 1,2.3and4 only
(D) 2.3.4 and 5 only

(F) Question not attempted

nﬁﬂmg@ﬂsﬁﬁﬂqﬂ?ﬁ'mﬂﬂmﬁmﬂ
el T9F &

|, afferl
2. HieEd
3. WA

4.

5. 7= wed

3t For w7y Fereedt W WA T A A BT
(A) Faw 1,2, 335

(B) e 1. 2 &3
3 a4

ld

(C) =am 1,
(D) Haw 2, 3.4 a7 5
(E) et 9§

-

Fat

contact

2

owing sputum samples

Which of I
ich of the fo 4 for the diagnosis of

should be collect®
pulmonary wberculos!s!

. spoT sample !

2 gpOT samples 2

: !
3. Farly morming sample

4, Early moming samples 2

ple rcquirf:d now

5. No sam
m the options

0
Choose the correct answer fr

given below:

(A) 1and3 only
(B) 2and 3 only
(C) 2and 4 only

(D) 1 and 2 only
Question not atiempted

(E)
 Tb) & P B T
| fag (gE@) O T
2. fag &ww A
3. g mE a4 o

4. qr: S due &
mﬁeﬁﬁnﬁﬁmwﬁnaﬁh

ﬁﬂfiwiﬁﬁq’fﬂﬁrvﬁwmmaﬁﬁq;
(A) Faw | &3
(B) %¥aw 2 3T S
(C) Fam 2 ot 4
(D) Faw | afit 2

(L) Hﬂﬂﬁﬂ PEE]

TPT10OY
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The method whig) is

™~ * i lu .
cfTective in changing huy s

Fal|,
Vi ly

ht' h: r“(!lr
hl“rlﬂhr LS

Lecture :
I!\,:

(Al
(B)
(C)
(D)
(E) Wempyeg |
ﬂmm;m;mmi :ﬁﬁ“ *ﬁ%mﬂ
(A) /TR - ||
(B) wTmet & |
(C) @E WYX e

(D) =g Witk |
(E) &FHAE ugm

Counselling
FFocus group diﬁcusﬁi“ \
Mass media . |

Question not

Daughter cells formed by, [',Ile'
zypole by mitotie division gre

(A)

':ll.'ﬂ'\.'a_ge of
known as.
Trophoblast cells

(B) Mesoderm cells
(C) Blastomeres
(D) Siem cells

(E) Question not attempted

WA NI B0 e % e an R
el B oA A
(A) wmmIeE Fifimn (Trophoblast cells) |

(B)

e afe (Mesoderm cells)
F@Es (Blastomeres) |
T wfEET (Stem cells) |
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ol wiler [ 1
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il |rl{]lI!-i|l‘|ll| j: uent
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Jost appropriate

(e opLions

yy 3 only

::i; 3 and 3 only

) and 3 only

(5 unl}_' ‘ cd

sstion nul attempt _

L:;'i; a‘%‘mﬂt"‘”' il 9’1‘ T AT & g W Qf"ﬂ.

Pt il 'ﬁT’-’ﬁT ErilAGIE ':

j,  ifkd W o4

5 o afvorarll

3. @ A we

4. ﬁwmﬁm o

4 o v faedl @ @ SO B TG BT
ol

(A) FHaw 3 t i

(B) e 3 T S 0

(C) Faa 3, 4 o e

(D) ¥ S

(E) ¥eha we

Which of the following :E NOT a colour
coded chart under IMNCI?

{A) Pink Chart oS
(B) Red Chart
(C) Yellow Chart
(D) Green Chart (
(E)  Question not attempted

IMNCI & sferfm, fret % g2 @, avf B

-

""-l;i
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are k7

“(A) T A l{_,
(B) wm a o
(C) e = \O
(D) wo wi S
(E) safm woa P
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(A)  Water

(B) Plants

(C) Animals

(D) Bacteria

(E)  Question not atte

FawEa F

b

1134
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All of the following arc major symplo
Schizophrenia except:

(A} Cognitive symploms

(B) Obsessions

(C) Hallueinations

(D) Delusions y

(E)  Question not attempt
ﬁﬁ’ﬂﬂ%ﬂ ¥ g & oo wH
fraeidifrar % v wam €

(A)  Fraagier sem

(B) weinreran

(C) 3frum

(D) wuywia

(E) orqafta go

Which of the following is an infectious
disease?

(A) Typhoid

(B) Blood cancer

(C)  Haemophilia

(D) Diabetes

(E)  Question not attempted
Frefifa & & smme tm am @ 7
(A) ZrEwEE

(B) == ¥ (@ $wq)

(C)  Errdifemn

(D) s

(A)
(B)
(C)
(D)
(k)
ms of

(E)  ormgafm we

0

W.hich of the followin
With chilg health?

1,
2,
3,
4,

o,

Choose the CoOrrect answer

.

o

g nrganizmiu“& ‘
1
UNDP

UNICEF
CARA
CDC
WFP

given below: o e g
(A) 2ands
(B) 1 and2
(C) 1and3
(D) 2and3
(E)  Question not attempled
B & 2 et et 3 R 3 fy
¥ w1 wdh ¥
L. 3mdd (UNDP)
2. g% (UNICEF)
3. WUSRT (CARA)
4. #WEA. (CDO)
5. wmqumd. (WFP)
e R et & & w e w ww dh
(A) 285
(B 1a&w2
(C) 133
(D) 2alw3
(E)  arfama gsd
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Match List [ wjy, Ligt |
List | l.iﬂt ; I-
a. Food |

b. Balanced
diet

d. Nl.ll.l'i:_'ms I"\"

. Uk L «

d-. mm

Choose the correct answer from the o
given below:

A4 o e e e e i |
(A)  a-1V, b-l, ¢-IL. d-1u
(B) a-lll, b-11, e-1V, d-F
(C) a-ll, b1V, ¢-l, d-11
a-l11, b-IV, e-I1, d-1-
Question nm‘attcmplcd | S 9 ll

]jﬁﬂ ns |

()

1A
=
ri
—
[}
‘=

7 and 3 only

(L) Question not attempled

g ¥ A FfperTd  SITRTL
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1. W1y Tt f Te SR wEEd ST
¥ fm arsrEn BT
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g AT

fafpmam B

. W @ e |
4. Tamfzal @ e s fros w0

A foo My femedl ¥ & ey

(A) Faw 1 3 4
(B) ¥ 1 divr 2
(©) % 3 sy 4
P &= 2 sire 3
®) srfta weq



13 Aluminium is used for making cooking

utensils. Which of the following properties
of Aluminium are responsible for the same?
1. High thermal conductivity

S
High ¢lectrical conductivity

2,

O\
3. Malleability
4. Ductility
5.

High melting poin
Choose the Jnost a

; Ppropriate answer from
the options ,given below:

i
(A)

1. 4 and 5 only
N
(B) 1,3 aud 4 only
(C)

C
L3 B.pa 5 only
(D)

I andS) only
(E) Quest;‘u:_zjn not attempted

APEn M a5 wd % R

e st &1 32 g 2 & o (PP
%) T forq e ¥ 7

()
1. Soa &S W
e frgd T

2
3,
4
5. ﬁﬂ!@mﬁi

M g T R § ¥ TEd gIEH I W
T B ()

(A) arqﬁtlj-#aﬂTS
(B) mkt33m4
(©) i!mrg;g)ni‘ns
(D) mgcﬂns

D

14 The male accessory glands include: 16 ;
1. Paired seminal vesicles

2.  Prostate gland

3. Ampulla

4, PaE bulbourethral glands

Choose fé most appropriate answer from
the optiony given below:

(A) 2, Yand 4 only
B) 1 2 only
(C) 2 amg 4 only
(D) 1,2 and 4 only 5
i { attemp
i} Ql&mn n;ﬁqﬂérﬂ ¥
gfaq g
wiee i
-g'-f%gi (Ampulla)
A1 fro Mo Rreedt ¥ § @A I9gR IAC W

g FHifam
(A) 2,3 3T 4
(B) :ilahz

(C) a2 it 4

(D) k@h?.\'fh’{d-

(E) srgeia ueA
Disease goptrol describes all of the following
except: s
(A) Finkhcial burden to community
(B) Ingidence of disease
(C) Effests of infection
(D) Hiph risk strategy
(E) QUstion not attempted
T Prdsor Pt & R % afefta, @@
e faERe A %)
(A) T T st B
(B) g wrar W
(C) w&Ew ¥ yvw
[
(D) %ﬁﬁﬂiﬂl T g

1.
2.
3.
4.

15
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34GNM-1] 9,

(E) &qaia
| P.T.O.



16 Which of the following ey
institutions have been upgraded alth

Loy hes sare
wellness centres”? calth gn
j & Sub-health Centres
2. Primary Health Centres
3. Sub district Hospitalg
d. District Hospitals I

Choose the most appropriate
the options given below:

(A) 3 and 4 only

(By 1 and 2 only

(C) 1 and 3 only

(D) 2 and 3 only

(E) Question not attempied

answer from |

2. wiHihE W S |
3 ag-Te oA | 19

T4 St

(A) Faa 3 it 4

(B) #Haer 1 3T 2 |
(C) haw 1 afiT 3

(D) Haw 2 &t 3

(B) ordig 9ss

I
17

A tiny 1‘111_1?mr - like structure which lies at
the upper junction of the two labia minora
above the urethral opening is called: |
Ay Ampulla \
(By Hymen

(C) Clitoris |
(D) Mons pubis

(E) Question not attempted

TH WY SIS JE wEA A e % v F
HUX Al WA HEA B9l Hhnae ug
Tad &, 39 @@ wed B 7

(A) dfEr (Ampulla) \

(B) @fresz (Hymen)

(C) wmsw (Clitoris) |
(D) == | \

(E) o=t wsd
34L]NT\1—1] o/

one or both the

- o1 T ) '
. which l_.lﬂu.. e 2 g
amit? m\iu'l' qyvaiiable
AT s are
rents T .
" a5 " ¢
""““"“;;ﬂ._-m.lt-'d 1.13';1:1_
(A [;rukﬂ"' IH‘T-‘ >
U‘} Joint lu.m;.‘}m“:7r
(C) HrobleMm amily o ted )
Lo {'m-;*-‘-lm nol .nr e = e
B e ay A ® arfivrerd T
prert L Ao
lIJ £ L
(13 "ﬁﬁ o<
© gfrart
o Afa 94
(k) x N |
i food groups :-“uggu-.u.d by
gelect the basic
& e UMCS
l]h Pulses and iL'!?.rLcl;
i rqrs and sugdr N
3 l‘ﬂlill-_ and meal prod_m.li-._
e ( e pmductz-'. of grains
“ereals.
i- Fruils and vegetables

e - ©r !l’tlﬂ‘l
= 1 [‘pi Il.ﬂ.‘- .ﬂ‘l:-'-‘»C
- -~ the most nllir-'[
f_ hull:ﬂ. 1

the opuons gi
Ay b 3. 4 only

@ 1.2 3. 4 only

© 1.2 3 4.5

(D 1. = 4, 5 only

(L) Qucstion not attempled

ven below:

o+

g b 1d

ICMR & A 3 ATHTOE EHE B
o WL

1. = a4t el

2. g d="T TR

3. ™ AUl HiE SRR

4. oS, €79 SN 99w SIS

=

Ee T Afeadl

ﬁﬁ;ﬁf Wr;:?émit?‘r ¥ ¥ wEd Iugad 39l
(A) wad

1.3. 4
(B) %==r 1, 2. 3, 4
€y 1,2 3.4, 5
(D) %=« 1.2, 4. 5

(B)  smefa s

R e T
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The Mental Health Care Act 2017 was
implemented on:

(A) July 7, 2019

(B) July 7, 2016

(C) July 7, 2017 O
(D) July 7, 2018 &J;

(E) Question not attempted

i @ Yeve s, mbmm

AT 17 o
(A) worg 7, 2019 <
(B) = 7, 2016 ™
(C) =g 7, 2017

(D) =g 7, 2018 o
(E) arafa wsw 3

Which of the following diseases % Vaccine
Preventable Diseases unde[JMHsmn

Indradhanush? <
I. DPT o
2 Hepatitis B

3. Hemophilus o
4 Herpes t[l

5. Measles
Choose the correct answer fmm(tlp options

given below: Yo
(A) 1,3,4and>5 o
(B) 1,2and35 '

(C) 1,2,3and 4 ™)

(D) 1.2, 3and 5
(E) Question not attempted (O

22

Prerforfaa & & B9 & W7 Sy PN & efeia
el 70 QU™ Y W T "Eﬁt?

L &hA 3

2. feenfem B -

3. feifees <

4. =W ™

5. @gU

3 fo Ty Rrsedt & & TE TAT BLHAT BT
(A) 1,3,48MT5 <

(B) 1,285 £

(C) 1,2, 3q4 0

(D) 1,2, 335 o

(E) oruita 9e <

("]
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Match List I with List II:

List | List 11 23
a. Monality rate L. Pop?laﬁun .
indicators bed ratio
b. Morbidity L. C:;!i:t}e death
indicators l'ﬂl?s
¢. Nutritional I11. le_l\r_?tmn of Stay
status indicators inthpspital '
d. Health care V. HFi;;,hl and
delivery weight of -
indicators prcschoul childre,
gdt | % @ g 11 & ﬁqaﬂr zﬁ\ﬁn’, |l
‘Q?h I @Ill i.
o §g o dgEs 1 SR e
agr &= (bed) &
e
b. TR HEID [I. wgnfa (Crude) |

s

.. drgur @Y ggEw 1. S ¥ W G

(Y)
V. warrcg& (preschodl|
ﬂﬁ;} & FHar qg
e

Choose the correct answer iﬁ'om the options

d. @rea @
foaor =S

given below:
ﬁﬂ&qmﬁw&rﬁ%uﬁw&mﬂﬁm
(A) a-lV, b-l, c-III, d-1I )
(B) al, bIV, eI, -
(C) a-l, b- lII c—_I"V d- I : f
(D) a-IJl, b- 11, e, d-IV
(E) Question not attemptéd / aFaiRa 7% |

[PTO.
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13 r‘-:]?;l; E:fl!ierf‘nllmr.-mg Schemgy :  the foll owing ;11{i5qru;i:sﬂmw
="} S 1%/: ) .
Erjn ants'; S/are NOT 24 wmull_i;flc ey ¥ (ransmission 0
1. ILB& K "1|-I|Itt|"".
(N | nc_(-:l'l' ¢
2. JSSK " ulex
3 Nsrsg [B] | I_.h_fn"{_'.‘l'
RKfo.] (C J:-Z}Jvfnﬂpf’”“‘
4. K [D){' "”’Manyﬂﬂﬂjfﬁ-’ﬁ
Choose the mOst appropy: () Question not attempted N
. priat | ), o el
e ule‘% given below: M from, f:rnré g @ | m;:mﬁ'
.. ; Ll m
(A) 4 anly gt % ST
3 A
(B) 1 onl
¥ (B) g
i~ g
C) 2,3 only ©m -
(D) 3.4 only (D) Faraiasd

(E) ~Hgeie 937

(E) Question not attempted
O _
frafafaacdl & a A v et & | 25 APGAR score is taken at 1 minule and 5

ferg 7@ %?‘.8’? minutes after birth to:
A)" Determine mother’s post partum
1.  RBSK (smdiue.i) (A), .mzmw
2. JSSK (d.ua.uas.) (B) Assess the cognitive development of
3 ¢ the baby.
5. NSSK (T.08.0e.%.) (C) Evaluate the overall health and well
; c\being of the baby.
§ RKSK TR (D)\EMeasure birth weight
9 Ru o fyeedt § 9 aaw SUgFd I @ (E) Sﬁuesﬁﬂn not attempted
T HEY APGAR @t 57 % | frz @an 5 ez @@
Frr #g frar wimen &
(&) ¥ 4 b ¥
(A) e it farg] 511 g (dvee wréw) Reapardy
(B) &a | tmﬂa#m‘hﬁﬁamaﬁﬁaﬂg
(€) Fam 2,3 (C}gj*“"{ﬂmamymmaﬁﬁrhﬂr
(D) mfl 4 1) Setiing
(E) srpefa wed (E)  srgafta e
9 T ™ =vs .=

4% T d 11 N/



e, &

26 ;:rgg{}?)r the following statements are true | 27 Glycosuria and ketonuria in urine are
. indicative of:

1. {1}11e ToﬂT oro G2Df: 2023 is one Earth. (A) Renal calculi
nec lamily, n
) ¢ Tuture (B) Diabetes mellitus

2; Los Angles, USA is the headquarter
" q w . o
of G20 (C) Diabetes insipidus
. . I (D) Renal failure
% European Union has become the fY (E) Question not attempted

member of G20 on 9'h September 2023
g5 A s aar R A BT IR I Ry

4. G20, 2025 Summit will be held in
South Africa g qem k7
Choose the correct answer from the options (A) zwhra Hegers (E A wad)
given below: (B) 3
(A) 1, 2 and 4 only (C) s==ds

(B) 2 and 4 only (D) gwrg faween (& ®™ A HTN)
(C) 1 and 2 only (E) orgafa 9
(D) 1 and 4 only

(E) Question not attempted

i g o e § @ @ & e G20 B T

28  Which of the following drugs is given to yp,
patient to relieve from anxiety befgy,

o operation?
1. G20, 2023 1 92 (srsd) TF G, (4). Caffeine
uw oftar, s uiesr ¥ (B) Albendazole
2. USA A wig dRifera G20 %1 J6A@d 1 (C) Benzodiazepenes
3. 9 Ryt 2023 @ gaf gia G20 (D) Nicotine

@1 gof wew &= Tar &

E u i
4. G20,2025 sy TR SHE H TT (E) " Question not attempted

il Mﬁmﬁ‘ﬁmﬁ‘l‘q‘ﬂm;m@w
A g g famedl F @ wé IO @1 Ta i W*Wﬁqﬂ%aﬁﬂmwﬁmmh
(A) %ad 1,2 T 4 (A) Swm
(B) %aw 2 siit 4 (B) TREmIE
(C) &Faw 1 st 2 C) Fsirsrfadrr
(D) Faw 1 afir 4 (D) Praifes
(E) orgafta wsw -

34GNM-1 1 9%
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| -8t 1.

List | (Organigy,

st dfy the micronutrients from the
sty |ag ldentif
a. Rhizobium M"‘““n} I following:
Sakiy ins
M e I Protetn
b. Lactobaciljy, . L of By | 1.
O TTeSeny I 7 Caleium
c. Yeast. - Vaiy,, I B
v Fixs 1 Jron
d, Vinegar g Ni Topy, |I B
i i ]‘ v i tn II 4, Fats
Mmp ¢ i
_T‘,n 1 % @ 1‘1‘&[ I B of Ly I. Choose the mosl appropriale answer from
- | : ,
T m . ' (he options gIven beien
1 )
T (foy o (a) 2and 3only
a. sy L II B | and 2 only
' Iﬁ'ﬁﬁa.} -
kDl || ©) ! and 4 only
kR
b I (D) 3and 4 only
b. Aedfaay I
L o |I (F) Question not attempted
a iit | b’ ' b}
e e ) I“-‘Trs'amqaqﬁm I ﬁmfﬁ&gﬂﬁﬁq?ﬂﬁ'rﬁaﬁimqﬁﬁ:
I
% fm | e
2, e
d. T V. = o p—
3. #mad
Choose the correct answer from the options II
given below; I 4. =

|
ﬂ%ﬁqﬂﬁmﬂﬂﬁﬁmmwm;'\ A fan oy Taeedi § 9 W SUgE oW @

| |
(A) a-liL b-1, c-IV. d-1Y I| ey 2 dhes
2 ®) a-Il, bV, ¢, dl. II B e 1A
" (©) a1V, bell, e, ¢-I | (©) w0 st
(D) a-lil, b1V, eI d-1 I (D) e 3 oirw 4
I
g% (E)  Question not attempted / T 9 I[ = s
1.0

. : 3 'T.0,
IIIGMIHII A I [P
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Which of the £,

by palpat
slcthu;‘:opir}:': Meth
SPh}'Emnmnnnmct
(A) Cupiuur}, Py
(B) S}'slﬂlic Bp
(C) Diastolic gp
(D) Systolic & p
(E)

"Gwin )

will
od
ngin
er? i

'3stolie

Assessment
Planning \O
Nursing diagnesis Ef}
Outcome identiﬁcatidﬁ
Implementation

R B & Pt et i o L
w9 ¥ =qafiteag w5y RS

HThw = (Assessment)ﬁ

e (Planning) kc;
T R (NufSing diagnosis)
oo & qeew

[ERIG e it

Choose the correct answer from the options
given below: o

g g ﬁaﬁtﬁﬂﬁrqﬁ;ﬁtmwm:
(A) to)

I T R

(&)

32

2
(B) 3,
4
(D) 1
(E)

(C) Pﬂrﬂlﬂr Rﬂjﬂ Bhﬂjﬂ:! ’

Lok cstion not mlcmf.ﬂc _ ?
() QU o e pre e S
(B) qeATt <1

() FEra “'“"'m W0

(D) wE T o

(F) St % S

)

3 i dedls with:
vaﬂll:::zcl:lfi:::: lz;rfneﬁal illness
'i:r. prevention of physical illness -
; promotion of me HEI health .~
4- promotion of phy.g.}ca! health
5. Prevention of Social illness '
Choose the correct answer from the options
given below: ';_L
(A) 1 and 3 only ::_;.
(B) 1 only
(C) 3 only
(D) 1and 2 only
(E) Question not attempted
Prire ifReE Rrad et ¥ 7
Tt T Y T
e it @ e
s e & T
(B) %Faw |
©) = 3
D) Fast | sty 2

(E) FTaRE wgm "

r)

T

26
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33 Whichof the following is NOT an ,vtiﬁﬂi“] 35 :_""tl"lt:r h]i_:-nd infusion, blood bag is discarg
Intelligence (Al) personal digital assistant? Into which colour coded dustbin? w37
' (A) Green
(A)  Alexa (B) Red
i (C) Blue
(B)  Sin (D) Yellow
(C)  Google Chrome E:ﬂ-::I Q“cﬁgi“" not ullcmpt;ll 2 P
T I, LK i
(D) Cortana Fea o Y wman k7 A
(E)  Question not attempled {‘;:’ LIy
(B) @
Prorffae ¥ & @ gim ghe (AD) FR© (©)
fefrew aftete adi & 7 (D) e
A) (E) orpafta weA
36 Match List I with List II:
B =L
B List I List 11
(C) T & a. Tertiary 1. . Early stage diseag
b. Primordia) [I. Last stage of
(D) @ disease
) sl ¢. Secondary IIl. Specific causal
(F) bk factors
d. Primary [V. Underlying economi
social and
34 Which of the following is NOT absorbed environmental
by the stomach? condition leading
A) D 1o causalion
() Vrug et | & wr g 11 71 fer B
{(B) Alcohol e 1 i 11
(C) Monosaccharides €. ¥ L <= i
HIE
(D) Water b. anfgmem 1L T @t sifod e
(E) Question not attempted ; fereias ii:r fafime ;rﬁ ot
Prer & & w1 @I & ZI0 srasiia 7@ B aen ik anfifs,
AT ? qrAS quT yatearn
fraftmt
(A) =8 Choose the correct answer from the options
(B) oresres ' %i;re%qbelnw: -
; T et & TEC @ TA DI
(C) wHdsUssd (A) a1V, b-Il, c-l1I, d-1
(B) a-Ill, b-I, c-1V, d-1I
D) =& : '
(D) (C) _a-l, b1y, cdl, d-TII
(E) ogaita ws (D) a-l, b1, ¢-11, d-IV
(E)  Question not attempted / @M 94
I4GNM-] 0
% 12 [PTO.
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42

.

Match List 1 with Lisy .

ist 1
List s s
(Ph}'ﬂlm uantity) . ]
o Powerofalens ::’“i']
p. Resistance Of wire K{;]u Mpere
.. Electric POWer %t o,
J. Electrical EOETRY NI, VollT =
Eﬁ]%ﬂm@”mﬁﬁa Mpere-
[ (onfe ) A
sl T (e
a 0F H & 1. - )
. frga R L. sy 2
d. ﬂl’gﬁ Sl v, a‘fﬁt
C‘.hﬂﬂse the correct answey fro Uiy |
given below: m the OPtions
4rar faw o feameay #
(A) a-IL, b1V, ¢-1, 4o By
(B) a-lIl, b-I, c-IV, d-1;
(C) a-IV, b-1ll, c-11, d-]
(D) a*IIE, b-1V,.c-11, d-1"
(E) Question not attempieq / S
Which quality of rice is (
genetic Engineering? Eyeloped through
(A) Jasmine rice
(B) Brown rice
(C) Black rice
(D) Golden rice
(E) Question not attempted

T A FHE F A Sy st
st f ¥ 7 &

(A) EHE OEw
(B) WU g e
(C) e gmEw
(D) TTesd aEd

44

(E) orgafta wed

34GNM-1] %,

. gre alSO known as -
25

lopi" -
" I fundihulun'-
n

A

(M)
(B)

pl.l."“-

(€)
(D)
(E)

In the neW parliament House the interiors of
the Rajya Sabha are designed with a

theme.

(A) Rose
(B)
(€)
(D)
(E)

Peacock

Swastik

Lotus

Question not attempted

T gEe a9 ®, T gHl W HaiE 89
Tqumesg 9T eI )

(A) e
(B) #r

(C) =it
(D)

(E)

hHA

gafE wew

P
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62

S |

= i W s

E LR AL o

E
1 aanid

iyl QlalD LW SAFRILT e Ta AR EEET
wreanl O

i

63

ii

34GNM-1 ]

The target cells of HIV virus in body are:

(A) Reproductive Cells

(B) White Blood Cells
(C) Red Blood Cells
(D) Nerve Cells

Question not attempted

(E)
HIV frsm @t weg BfRmd a9 & ¥ 7

aare 9

What can be the maximum SCOre for
nscious

Glasgow Coma Scale for a fully co
individual?

oot S e & aTET ST Ve T S
aim fra & T 87

(A) 20
(B) 5
© 10

(D) 15
(E) Question not attempted / dTafta 99

%

20

64

65

Smartphones are:

(A) which can access internet and send ,
mails and faxes in addition 10 othg,
basic phone functions

(B) those phones with highest speed

(C) those phones where only calculatipy

can be pcrfom‘led
small sized phones

Question not attempted

(D)
(E)
e o & ¥

o % T

{erie g & T
a1 ' €l

(A)
$-F@ au am 93

(B)
(©)

(D)
(E)

The endocrine function of pancreas is
performed by:

(A) Islets of Langerhans

(B)
(©)
(D)
(E) Question not attempted
ST T GEETE H
wmr ¥

(A) SHEH A6 ATEH
(B) TEEHEE DI
(C) TeF wiweg

(D) omgdE 3G AT
(E) orgafta wed

Acinar cells
Follicle cells

Islands of Langerhans

% T fem

[ P.T.0.
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JP 55 Maich List 1 with List IT : 56 Food materials containing fat / oil become > :

}f*. List I (Action) List I (Hormone) rancid because of:

}g a. Increases blood [. Melatonin (A) Displacement of fat / oil of food |

i% glucose level ' materials

% b. Increases blood II. Glucagon (B) The oxidation of fat / oil of food

:f Ca** level materials

:.I c. Regulates the I11. Aldosteronc (C) The r-cducliun of fat / oil of food

.” body’s biological materials

clock (D) Decomposition of fat / oil of food |
d. Controls water IV. Parathormone Materials
’ R —— (E) Question not attempted
homeostasis o/ d A @ vard few s & frga
@]ﬁmwllmmm: oy ¥ 2
<1 () o 1 (i) (A) @ qard ¥ 7@ / & & Rwar % wo
. wATEmE L AeRhe (B) @ ward ¥ =@ / Aw % sqwaT 3w
T &1 g &l (C) um w=r & 757/ A9 & swaaw F Hoo
’ b e ¥ Cat™tww Il T (D) ward /e & e e |
Y FE B : (E) oraia a1
c. o @ AR Il TR
Fraaaticrar i 57 Which of the following is NOT the
Prdfia &tan &1 indicators of health?

E d. e o g IV. e (A) Health policy indicators
(electrolyte) (B) Health care delivery indicator
gaedfes o Frfr (C) Utilization rates
HYar _ (D) Disease control

;ﬂ:ﬁsg :1!:;.,- :?orrect answer from the options E) Oiisktion notdisnpiod
e R e Rl F & TR TET B I AR Pt & ¥ 7 T w1 dHaw @ §
(A) a-I, b-IV, c-I, d-II (A) @@ iy whas
(B) a-Il, b-IV, c-l, d-III (B) wmem Yave ot e
(C:l a-—L b-IV. C""I. d-II' (C) a'q'q‘rf}m-[ T
(D) a-1V, b-Il, c-I, d-III (D) o Prder
(E) Question not attempted / gt 999
4 (E) orgaf@ wg

34GNM-1] 9 18 [ P10



;0 Who has been appointed as Lokay

" Rajasthan in October, 20237 AYuktn of
(A) Milap Chand Jain
(B) Justice G. L. Gupia

Which of the following is NOT to be done
hile preparing a patient lor Health
w S

S

AsSC ssment”

(C) Justice Pratap Krishng [ g i D
(D) Justice M. B. Sharmp Gl (A) Sleeping U"t
H (E) Question ;m; ﬂi:;mmd (3) Draping )
Rrad FHAT, 2023 ¥ Irepers . o ,
fora T k7 oy PRy (C)  Postioning o
(A) foremg w9 (D) Emptying the bladder
(B) =magfd W um, =, () Question not attempted
:Lnl ek S Fm‘i't oy QA1 B SR T o % fe e
L} . Q’ WD - 15 — .-I‘
(F) srafa g N F wwg Pt 8 A @ T A e ¢
51 Whiuz gt of the following age e (A) Fam
considered as ‘Adolescent Ao ! i .
o cscemtyApe (‘.ruup by (B) wamA { Draping) =
(A) 12 - 18 years ' () ettt (Positioning)
(B) 10 - 18 years
(C) 13 - 19 years (D) st ® fraa s ]
(D) 10 - 19 years o () erEt 99 o
(E) Question not attempted

LM

& WHO (fags N o
; MG ' ey | $4 Human Eye has the capacity o sce objects

Frafwflas & & Rem amg
@ weA) & ‘fe

e E? placed at different distances from it. This is
(A) 12 - 18 =d _ done by the action of: ™1
(B) 10- 18 =4 - S
©) 13- 19 =% B l (A) Ciliary muscles
(D) 10 - 19 =9 (3) Retina —?:
(E) sg=iE us (C) Pupil

52 Who is appointed as Central Chief (DY Cornea ; _"1'
Information Commissioner of India in 20237 X i : =
(A) Shri Heeralal Sa:ﬁﬂl_'i}'a - (). "Snesvon npt attcmm{uq
(B) Bimal Julka ' g @) @ o fath= gie ar v aEai @
(C) Ram Niwas Mirdha dEs B aEe ¥ gw ettt § & few & w
(E) Question not attempted bl -
fra®! 2023 & wa & 49 581 gue g (A) Taied wieaiyE
Frgee T mm &7 _ By Y

| (A) it Eroemer [

(B) fawe e ¢ (C) g

(C) T fram (DY =i (erashsa)
(1)) wH, U, @

(E) oA gg7 (E)  safE gew
HGNM-1 ] 94 17
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46 Trace the path of the sperm cell pL’IlL'IriIIiI"IE-

the ovum.

1. Z@a pellucida

Pliisma membrane of secondary 0oeyt€

Qytoplasm of secondary oocyle

Cletona radiata

P:‘%vilc]linc space

7 TR 2w Aur 3 gy F) wA A

mﬂﬁﬂﬁr 3‘#1

I q‘@ﬁﬁ ST (Zona pellucida)

2. falas gesyd ) o faeedt (Plasma
membrane of secondary oocyle)

3. iﬁﬁvm TEHYE F BIUHEL

4. @ Rl (Corona radiata)

5. offfas @ (Perivitelline space)

C.hoosc the correct answer from the options

given below:

YR W

M g T8 Pl 3 @ wht were an w i

(A) 5.2 4.3, 1

(B) 324,15

€y 445,23

(D) I.‘;; 5.3 2 :

(E) Qnéstion not attempted / 3FTRT H¥1

47 Identify~the incorrect pair from the

following :

(A) N{qu Kokila of Rajasthan - Banno
Begum

(B) Gandhi of Rajasthan - Gokulbhai Bhatt

(C) LoKnayak of Rajasthan - Jai Narayan
Vyas

(D) Iron Man of Rajasthan - Damodar Lal
Vyas

(E) Question not attempted

P & P rem g & TEEIC

(A) # A% FifHar - a1 I

(B) TR @ el — Mg e

(C) e @ deprad — 9d A A

(D) ke & wE o - AHET T A/

(E) orgafa we

34GNM-1] %

48

49

16

Which of the following is the correct option
for NTEP? ;
National 1 uhurglqlmiis Effective

Lt B

{A)
Program L6

(B) National ‘I'ulmr::l_'.:l_lfa;'u:is Eradication
Program o

(C) National Tuberculosis Elimination
Program o

(D) National Tuberculosis [Escalation
Program £ '

(E) Question not attempted

N'I'Epasﬁrqﬁmﬁﬂ@ﬁmwt?

s A e S

Yo e SEEA W

L = sl
M WA

Agret W’ﬁfﬂgﬁs

et 99T o

It‘
ﬁammcturs is used
d using WHO

(A)
(B)
(C)
(D)
(E)

Which of the f'DIIuwingf .
to identify a mﬂlnnurisheﬂichll

growth chart?
f ]
Waist circumfcrcrlq; for age

(A)

(B) Head circumference for age
(C) Chest circumfcrur&% for age
(D) Weight for age

(E) Question not uncﬁgtud

Wli{'lqﬁﬁaﬁaﬁmmﬁiﬁﬂﬁﬁﬁm
w1 U FA e B T A HS
37 e

(A) o % e FL A SR

(B) mmmaﬁfm

(C) oy o B A

(D) ang%agartmf'

(E) ormfta 9s

[PTO



39 Which of the following cancers are included

in NPCI%S screening?

l.  Lukg Cancer
™

2. Bréfist Cancer
- GI-
3. C etyical Cancer
™
4.  Bone Cancer
5. OrghCancer

Ch N
-hoose the correct answer from the options

given batgw:
\O
(A) 2, 3.and S only

(B) 1. ﬁs. 4 and 5
(C) 1,2.3 and 5 only
(D)

23, 4 and 5 only
i
(E) Question not attempted

ﬁrﬂﬁlﬁ%ﬂﬁhﬂmﬁsmﬂrﬂwncs

T Aomfafea fer T ¥ 7
=2

1. H&EE = Hax

2.  wFEl

3. mefm-d e
4. oy He
5. gEHE

S g T el F @ i T 1 9@
(A) ¥gg 23RS
(B) 1@,3,4«31115
(©) a:%vl,z.nﬂtﬁ
(D) gy 2,3, 4 9 5

(E) ogafa wea

34GNM-1] 9%

40

41

14

S

Who has been awarded Padma Shri award
2023 'ffom Rajasthan?

(A)
(B)
(©)
(D)
(E)
ad 2023 1 T qresn Tower A A B
LR LU

() e P

(B) . qm. W

(C) m it =€

(D) freor Ry

L]

(E) 'ﬁﬂﬂﬁ'ﬁ pEL
¢

\
By the end of 24 weeks the foetus is

characterised by the appearance of :

(A) ‘Limbs and digits.

(B) (External genetalia and fine ha'%r on the
‘body only.

(C) 'Fine hair on the body and eyelashes
{‘I"lh separate eyelids.

(D) Fully developed organ systems. I
(E) Ejucstiun not attempted

243 wa® & o 9% ™ ® B ¥ ¥ Peed
woftafy v sl ¥ 2

(A) st 7 siferat

(B) %ﬁﬂmwm R 9T Y

(C) \rlrt qT U aun yuw T & Wy
(D) e s om

(E) W PR

Suresh Mishra
ML Tk

ﬁulm Kishore Vyas
Luscmnn Singh

Question not attempted

[PTO.




_ o

6 Ina muscle fibre the isotropic bang
which of the following protein?
(A) Keratin
(B) Actin
(C) Myosin
(D) Haemoglobin
(E) Question not attempted

EDnlnihs i

67 MS-PowerPoint file Extension is:

MS-grEaTarse wEE & fawm ¥ 1

(A) -Mbd
(B) .Doex
(C) Xils
(D) .pptx

(E) Question not attempted / =T w5

68 Where clean water is not available for
preparation of ORS, the contents of the
packet are dissolved in :

(A) Distilled water

(B) Boiled water

(C) Boiled and cooled water
(D) Normal drinking water
(E) Question not attempted
wWw 5 a9 7 &8 97, ORS #77 & fwu
¥z § & ng wed @1 Read dem S ¥ 7
(A) wga Wi«

(B) @& gom gl

(C) == &¢, 337 fawar ganm gl

(D) w99 5w

(E) omiE wew

re pertbrming. an abdominal surgery.
, instrument is used to prevent
cs in micturition”

Belo
which 10
irregulanti
(A) Drainage tube

(RED! R}'lc‘s tube

() Foley's Catheter

(12 T-tube

Question not attempted

1) -
o @ oa w1 @ qd T A
Waﬁ?ﬁiﬂmﬁﬂifﬁﬂﬁﬁﬂmm

iy fopn T B2
(A) PrerrE! ATEE!
(3) TEE B AT
() W W AT
IR

(F) a9

Which of the following is / arc NOT a part
of determinants of health?

Aging population

Quality of life

Biological determinants
Socio-economic condition

: Health services

Choose the most appropriate answer from
the options given below:

(A) 2,3,4.5 only

(3)y 2 only

(C) 4,5 only

(D) 1, 3.4 only

(E) Question not attempted

Preg ¥ § o @ Prutl & am @ ¥ /7
. FEE FEE

St @7 ToTE

s Pt

e anties atftftatemat

. R g

A faw Mo fmed ¥ ¥ wad SugE SE &
Taq I

(A) &=w 2,3,4.5

(B) @waw 2

(C) Haw 4, S

(D) &aw 1, 3, 4

(E) smafE wem

'-J‘i-F-'.-J'IJ‘—'

U‘l.h.'l'.p.'r!‘\.l

| PT.O.



e s sl
8 The presence of an infectioys ., I
inanimate article or skin surﬁ; “T-L.l._:m n ap 60  Which ol the t‘nlliﬂvmg R NAEEaaES
. . P CE I8 calley. of neonatal monrtality?
(A) Infestation =t | Low birth weight
O ’ 3 e
Pollutio . 5. L‘ongcnltﬂl anomalics
(B) ollution }E, 3 Diarrhocal diseases
(C) Infection o 4 Malnutrition'
(D) Contamination <t Choose the c.orrcct__sgmwcr from the options
™M given bhelow: )
(E) Question not attempied (A) 4 only
By 2 only
fpeht frofta =g = T HEH ey (C) 1 and 2 only ~
aufteafa H T FEY & bl (D) 3 and 4 only
: sti t attempted
. . | (1) Question not .
(A) 7 (Infestatiop)) forer & B I W AT FA HY BT T BE
(C) &9 (Infectiofi) 3. =@ T (
(D) #gEw (Contamination) 4 i
a g fom o Reped] W @ w@EE IUgE IAT &
- .
(E) orgaid 999 Taq A
W0 (A) wEE 4
59 Match List 1 with List II: (B) e« 2 -
List I _ ’3{) List 11 (C) %aw 1 T 2
a. Uret'hral E!lscha:gq_ . Yellow Kit (D) Haw 3 3T 4
b. Vaginal Discharge II. Grey Kit () orgefa wed .
¢. Lower Abdominal pain 1Il. Red Kit
d. Genital ulcer ; IV. Green Kit | 81  Which of the following vaccutainers should
o [ & @y g 11w R i be used for gﬂﬁt-nperaﬁve glucose
@1 0 T assesment:? o
N L e e (A) Sodium Clt{‘ﬂ!ﬁf / Blue
: qﬁﬁrﬁ; ot o | g :I b' (B) EDTA vaccutginers / Purple
: ferwae fastT . 7 fee (C) Sodium Fluoride / Grey
c. sl oy 11, = fpe (D) Plain vaccutdiners / Red
d. 999 9= ) V. 0 fse (E) Question not attempted
Choose the correct answer from the options Preferfige & & @ w1 Jaget uea wea Rafeen
given below: F T e F oowed & g weEm e
A fo o femedt § ¥ wE SET @1 94T Hi: ey 7 .
(A) a-l, b-l, c-IV a1l (A) e Rz /) e
(B) a-1V, b-I, c-1Tkng-1I (B) EDTA dwqewx / &
(C) a-l, b1V, c-IILEG-11 (©) Afaw el / s (@)
(D) -1l b-1V, c-15d-1I (E) o a;'@"‘-;’;m
(E) Question not aftempted / G 957 (E) b
34GNM-1] oy 19 [P.T.O




. ; for designing | 74 .
71 Which software s “?‘d hich af the : .
presentation 6% M};TPTEJMt? et TR :c':f“‘"%dedcm %"fn:;?hi 2?'::;3“’ e 75
* Hﬁfﬂﬁ:’ g N & forg oAt mmnﬂ:"'fimmuﬂizatiun Schedule? e
v o $7 1. MqJn
(A) MS-Acgess 2. PCY
(B) MS-Wﬁ ]?"
MS-E: 3. g ;
EE; MS-P:werPoimf . (endemic areas only)
(E) Question not attempted / Frgeid We 4. IRy,
72 Bagassosis issgaused by: Choose, the most :
T e e s
(B) Silica (N . h
(C) Sugarcdéé (A) lﬁﬂ 3, 4
(D) Cotton o b
(E) Questichf'not attempted (B) l.r;ﬂ; only
o wmLE: (C) 1,3, 4onl
(A) @ e y
(B) Faferet (D) 1,2, 4 only
(D) w9 <t (E) Q-i!;estmn not attempted
: 53 o :
73 Arrange the 9 HTE ;
from the beginning to the end. ¥ 2 - g ¥ 3 ¥ T argeten A
1. Effectdtl . ":
2.  Sensor§ heuron 1. I'EII\JR (Tw.aH.aT)
3. Motor neuron ‘
4.  Sensorgxeceptor 2.  PEV (@& #)
5.  Integrating centre <
wRyad @ % R T gTH B ATOH A 3T & B 3. I?,j{:?f,g,) (e Tt o )
¥ waftad HIN \
1. s (Effector) 4. IPJ (o 4) \l
3' E “?ﬂ% ?f!“I o Ao feed ¥ ¥ @ SIgR S W |
= T aﬁ;ﬂ Ly | aﬁﬁﬁq:
E G
5. @9@ed &= (Integrating centre) (A) 1 {";2’ 3, 4
Choose the &orrect answer from the options -
given below ' B) %ﬁﬂ 1,3
Hrar fiw o fadv) § @ GE) AT @ 9ge B
(A) 1.4,35,2 (C) iiﬂ‘au_:’ 1, 3, 4
(B) 4,2, , 1 .
C) 2.4 " (D) Hﬁ_‘:? 1,2, 4
@) 4,543 (B) S we
(E) Question not attempted / Jafta W
[PTO.



75

Tb

which among the

supercomputer?

(B) -Laptop |
(C) CRAY-2 \
(D) Desktop PC

(E) Question not attempred

ppafaiEe ¥ B Gty W w ok

(A) IBMS/390

(B) AT

(C) CRAY-2

(D) ¥ =W PC

fu”““'ihg

The sequence of methods |

v be folig \
during the health assessmen s

of the lungs is-

(A) Palpation, Auscultarjnn, Inspeciion
Percussion I

(B) Palpation, Auscultation, Percussiop,
Inspection

(C) Inspection, Auscultation, Palpation,
Percussion

(D) Percussion, Auscultation, Inspection,
Palpation

(E)

Question not attempted

%ﬁﬁ%ﬁmmmﬂwﬁmﬁww
HAETT T WA G e ¢

(A) =i, uftsem, Rrivew, smm
(B) =i, aftsram, smara, frdyem
() Friveron, uftsemr, wsl, emam
(D) smaw, wftse, frfieor s
(E)  smfa we

1d

ify which of the following reactions will
entily

1ake place:

-
A

(CusQ, + ke

AENO, + Cu

3 I“b{.:'ll + Cu
4. CusOy + /n
5. 'l + Cu

Choose the most appropriate answer from
the options given below:

tA) 2 and 4 only

(By 1.2 and 3 only

(Cy 1 und 2 only

(D) 1.2 and 4 only

(Ey  Question not altemipted

Pt # | 2@ G sfufea owg 32

]. CLIHD4 + FE

2. AgNO; + Cy
3. PbCl, + Cu

4. CuSO, + Zn.~
5.

NaCl + Cu

ﬁﬁﬁqﬂqﬁmﬁ%mﬁmmm
ERER O g

(A) %am 2 ol 4
B) Fam 1,2 oy 3
(C)  Fmer 1 aiw 2
(D) %aw 1, 2 3 4

(E)  srafim wem

34{‘-‘;\][&.1-]1 A [ P.T.O.
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al nu:rilinn‘,‘

; <ialiscd ared aln
The Erﬂl:ﬂ_ll:‘-l. i
h putrition fio

deals onl _'Ir:‘:'gfil
Jinbetic palicnts. |
providing, putritioni

78  What 1§ clinic
iA)

food

{13
J arca of nuin
yn durin _
o of putrition

The spm:ih_]jsu w
deals with nutritis

The specid

deals only with

s o [ )

]f"l‘!'-‘l?-l.'l‘l'lh. - .

Question fbt attempted
LY l‘?

()

the

LEY

79  Which of'the fo

Eﬂh“? Y 3|

(A) ranniq_
(B) '
(C)
() Carbon d%;ixide
(E) Questiﬂn;i}:ﬂl attempted
P & @ @ @ drerge e @ b7
(A) ST (O

@ P ©

(C) = ﬁ‘f{‘l;:mdﬂ (CFC)

(D) @A E’Eéﬁm@
(E) et ded

%

Methane —¢

cmcmﬂ{i&?}rucarhnn (CFC)

AGNM-1 |

ytrition which
r nbcse and

1o

""dﬂmdﬁjngc‘!' :jon which
i illness:

which
putrition ol sporty

l‘;lé“ing is NOT a greenhouse

L. Pancress

2 Small ‘iitestine

3. Gall Wistider

4 Stomadt

5. Tongue’

Pres & & ﬂl‘ﬁ* weTaE qre= afn K

I T

2 WA aa

3. fremmd

4 STy

5. P oy

Choose the torrect answer from the options
given belowD

i fir s Pt & & @ 3orT = WA S
(A) 1,3, 57 ]
By 1,3, 4.

(C) 3,5

(D) 1,5 ©

(E) Qucﬁi?gl not attempled / sgaiE 99
Match List j}im List II:

List 1 - List 11

(Disecase) .;:. (Mode of Transmission)
a. Malaria vy I.  Aar

b. Hepatitis A [[. Sexual

¢. Measlesc 1. Water

d. HepatitissB  [V. Mosquito

g | ¥ G 11 1 Reemm @R
'g_i'(l{'i‘m}m & 11 {d=ro 1 o)
b. ¥UeEEE Ay . @

c. mgn M I 9

d. ¥eged B V. Hest

Choose theprrect answer from the options
given below!'

a-TV, b-Iil, c-L, d-1I°

(A)

(B) a-1V, b:l, c-111, d-11

(C) a-1V, $nlll, c-11, d-1

(D) a-lIL dylV, c-1, d-1l

(E) Question not attempted / Frat w

[ P.1.O.



:lry

satch List 1 with List [).

82
List I (Fort) List 11 (g, I
")
: I Bavan —
a. Fort o yann ], memmm Saw gy
oJni Sing,
b. Fort of Amber "t%\_]ﬂ}, Rﬂ]EI
=
H?hﬂul'l.m|
Fort of Taragarh [[l-p.
c Il:u.fh_!d Muaay, Singh
d. Fort of I“{K_il'lb 'I.,-".jn&, p
N
Nahargarh 0
>
| & |19 L
g Rl et o
o 1 () T (Frien)
-
a. waET & fEen .
T v
b. =T &1 feen .
ll{;\}hﬁm Al Hrer
c. dNTTE W REETO1IL T qHiHE
d. s W= fismn TV ,_{m g
-
Choose the correct answer {rom the oplions
given below: O
N
MRS E LA R R ST p—
o [
(A) a-IV, b-II, -1, d-If
(B) a-IV, b-I1, c-I11, d-1
-
(€) a1 b-IV, ¢-1, d-Ift
Ty
(D) a-IV. bolll, e-Ii, §f
(E)

-
Question not attempted / AT 99

34GNM-1 ] o

A3

| o ]
[

pAatch List 1 with List L

| i!' l ldi‘t II
a. Bicep Reflex . Tongue hlade
b. Gag Reflex- . Babinski sign -

¢, Plunter Rellex [].I Tavior Hammer
J Pupil Reflex V. Light
et | & A g L @ e e

,@ Tﬁ [} |

o, fefarees wfemd (1 P mem
{Bicep Rellex)

b, e wfaed . AfaE T

¢ Trwm um wiwEd L Zer &
(Planter Reflex)y 04

d. g wiaad
(Pupil Reflex)

AL

<

Choose the correet answer from the options
given below:

e fam o famedl o @ @H T = T i
(A a-lll b-L e-1, d-1ve

B3y a-1Vv, b-il. c-1, d-111

(Cy  a-l bV, c-111, d-11

(1 a-1l, b-Il, c-1V, -]

(1) Question naot atempted / ST Wy

Which of the lhllu&jng pames for 2028
Olympics have beengemoved by 1002

(A)  Boxing and Crigket

(B)  Weight Lifting dnd Baseball
(C) Boxing and \\}téi“ght Lifting
(D) Boxing and Sq_i:;a:ah

(E)

Question not attempted
10C 3 Frfafas §
A % fog e R
(A) gwFamEh sy e
(B) wrirder st A
(C) et aft Hidrrem
(D) mardy st b
(E)  ormfa wym o

A W UT B 2028
B

LPT.O



28 W r
. . “|-1 4]
N'::::I];g:'mc following discases are P
9
21' Malaria
© Kala-Azar B
* Japanese l?‘m}cphahlfs
4 Plague
3. Tuberculosis,
Choose the corrggt answe
given below: ()
(A) 1.2.3. 4und5
() ! and 2 only
(C) 1.2 and 3 only
(D) 1.2, 3and ¢ only
(E) Question nat attempled
P A FH A AN NVBDCP
. w7
2. -y

¥ urn K7

 breast feading recommended by the
;‘:;}'D;; Euring the irﬁu'al period after birth
of new-born babies? _
(A) Milk producéd during the initial period
is rich in proteins and carbohydrates
Colostrumi provides active immunity
Colostrum contains antigens
(D) Colostrum contains antibodies
(E) Question not attempted
qae Rrg % o & A WRhws oy A
Rrreaal X1 T @Y argerar a4 & W ¥ P
(A) wTiesTs S afad B9 A 3§ Wi
qur @rErEEEs wgt A ¥ 9w ¥
(B) wringw irg Queda waM & §
(C) wwirgs & Wi (antigens) 91T o ¥
(D) @rrew d ufeel (antibodies) wrg e

£l

29

(B)
(C)

BN
-

(E) orqufa v

34GNM-1] 9%

30

100 Manich List [ with List 11:

Liat 1 List 11
o
i. Ethylenc ofifle 1. Laproscopic
o
E instruments
b. Plasma . g Il. Operation
steril i?j.lliunm Thﬂul.n:l

c, filutamlde@de lll.‘ Environmental
O x
d surfaces
O

d. Phenolr O IV. Metal implants
.dﬂ - -

gt | % wra gl I @ frer A

Tl o w1

<!
a. qﬁ:‘ﬁ?ﬁam;l'%! I Ardreprdt STwTn
b, remar hapgme 11 ST fare
=t
c. T UiesEEg") Il waeTer waE
d. feem 3 [V. &g wfrdm

Choose the coﬁct answer from the options
given below: ()

-
2 fre g el & | T IEX B 9EA B
M

(A) a-IV. bIL ¢-1, d-1I

a-1l., b-lig. c-1. d-IlI

e
a-111, b-f\ c-1, d-1l
O

a - - d-HL-
a-1V, b ‘E‘:‘i« d-Hl,
Quesliuﬂm attempted / HAHA W4

PO

(B)
(C)
(D)

(E)



which of the rﬂilﬂw’ing h‘-"'"‘nur..,
-]

95 the basal metabolic raye

(A) Tyrosine
(B)
(€)
(D)

Follicle Elimululing Hormg
ne
Thyroid Elilnulnting ”ﬂnhun |
L4
Thyroxine |
(E) Question not attempied

preffed § ¥ #9 m iy it %
sqrgedt &7 (basal metabolic rmt:}!-?r“m-rt:

(A) ZrEafET

g S BT
aratras S s
gt
FAE A

% Dr Edward Jenner introduced “Vaccination® |

after conducting experiments agains which
of the following diseases? I

(B)
(C)

(I

(E)

(A) Measles
(B)
(C)
(D)
(E} Question not attempted

=, tead A A P 9 | fvw T % Frez wam
T % A DwmT @ ey wa

(A)

Typhoid
Chicken pox
Small pox

@ET
(B) ZmwEs

(C) e ofew (91 <uw)
(D) dom

HIEHT Wy

HGNM-1 | o

(E)

———

of the }H}:!TEHWH 497

"w -

h of the following can be used for the

s i b (W] : 3 %

:]'fm:m.;i,; of dinhetes:
jagnos |

nsling Blood Sugar = 110 mg/dl

. 1

sngar 2 126 mg/dl
92 Fasting Blood Sug
. ' 2 di
3 ﬁumlum Blood Sugar > 200 mg/
4 HbAIC = 5.7

t answer from the options

Choose the corree
given helow:

(A) 5 and 4 only

By 3 and 4 onls

(Cy 1 and 4 onl

(I 2 and 3 only

(F)  Question not attempted

2. @l T2 T w0 2 126 me/dl

3. e (Random) 1@ 36 = 200 mg/dl
4. HbAIC < 5.7

A faw o fameat § | w8 et @ T St
(A) %awm 2 ol 4

(B) %am 3 3l 4

(C) %am 1 afr 4

(D) &aw 2 afw 3

(E)  swfa ue

[PTO.



= ELL R A

e
. (hrough the
gz Plage the route of blood flo¥ th 94
kidney in correet order:
L Renal vein
Z; Glomeruli
3. Renal arfery =
. IZiYerent arterioles
5 AfTerent arteriole = Gl
gk § FIET A3 ar T T & Td
W fad
. g By
2. TR
3. gam
4 srrardl (Efterent) erfast

93

sfeamdl (Alerent) FAFTET

rrect answer from the

uﬂﬂ‘ﬂﬂﬂ-?rﬁ'rq;

(hoose the co oplions
given below:
i e o Pt & & e Il
(A 2:4 13, 3

By 1.3 4.5
(C) 3.5.2.4
(D) 3.5 4.
(E) Question n

2
1
i
ot attempted / aﬂ?lﬂ'd b EE ]

Fluid filled cavity in the tertiary follicle is

called:

(A) Medulla
(B) Hydrocoele
(C) Antrum

(D) Coelom .
(E) Question not attempted

qeﬁuﬁgzwﬁm@rqﬂrﬁﬁaﬁmﬂﬁt?
(A) W=

(B) el (Hydrocoele)

(C) w&at (Antrum)

(D) g

(E) orgaita wet

28

4GNM-1] %

Match List [ with List [l 9z

List 1 List 11

a. NISHCHAY 1. Non-Steroida| OCp

b. CHH{'&Y&_ 1. Steroidal OCp

¢.  Antara 1. UPT kit

d. Mala V. Injectable
conlraceplive

g 1 & wra e 11 & e S

Gl gt 11

a. faveg [. S-Ero9en dm g

b, ®r . e s, 9

c. atmm 1. g9, e

d. e [V, ofe:@fi mifrieg

Choose the correct answer from the options
given below:

Srer fig w7 fameal & WE IO A 9 S
(A) a-ll, b-TI, c-IV., d-1

(B) a-lll, b-I, c-IV, d-1I-

(Cy a-l b-lll, c-1V, d-lI

(D) a-l, b-IIL, c-11, d-1V

(E) Question not attempted / afta v

| P10



g

e
n recenily released “Globa]
Index-2023", what is India’s POSitic, Valing,
132 countries across the world " amug
(A 52™ _
[ﬂ} jnlh p

. ith Wil
{L} 35 L -\.J
{n} 4DIh Ly
(E) Question nol ntiempi:;d
e A T P T A3

20237 %, fava & "3”’“?qu“"

<l
(A) 527 g
(B) 304 'L‘.
354l e
[l:-] . -'_|i|
(D) 40= i
(E) Srgaree 9¥% .
S,
Which of the following isih"l recommended

dose of Iron for the treatment of N
:lﬂﬂcm-ia n .n"hl'll.l:-:nﬂtlﬂ Mn_ih!:rh"?

blets in 200 day
(A) 200 tablels in f",s

(B) 100 tablets in 50 days
(C) 100 tablets in 100 days
(D) 200 tablets in 100 days

(E) Question not anemp'jﬁl
Prefafas & & mbad 'I‘ih!‘hfﬂ ¥ Hy TE
(mild angemia) ¥ J9ET ﬁ o amE @
arpsifee gos 7 k7 |

91

(A) 200 B=Y & 200 wfeai (tablets)
(B) 50 f&=¥ % 100 e (wablets)
(C) 100 feif & 100 wifera(tablets)
(D) 100 fesif % 200 wiferal (tablets)
(E) wafta wsw :

sgatch | ist | with List 1l

List 1 (Structure) List 11 (Function)
A% .

[-piglottis 12 . Common passage
a I :

(O of food and air

|
=
b, Larynx . Prevents entry of
2 ,
—. food into the
-
larynx
¢, Pleura . 1. Sound production
2 oy o
d. Pharynx YV, Covering around

o

O Jungs

e | % aa qe 1] fe #in

w1 (sr) a0 1 (F)
a wfqepfes (wv2oT) I MTAA Hell 7
P R
b. Aftew (@w) M. S afe
oy ST & e ¥
c. Al =7 3= w5
d. witew () 3%@3,—,%“

N
Choose the correct angwer from the options
given below: o

=F
A frm T Pt & |oed e @ T S

(A) a1l b1V, c-f, d-1I
| -

(B) a-l, b-11, c-T11, @IV
18]
(C) a1V, b-111, e-TE-]
w
(D) a1, b-11, c-1V"d-1
(E) Question not atfempted / s=Aa 95

F ™s*“T1T&is



85

86

JAGNM-1 |

e
right and lefi halves.
(A) Longitudinal fissure
(B)
()
()
(L)

Medulla oblongatn
Diencephalon

Corpus callosum
Question not atlempted

wafks (cerchrum) @ 2
ot fiwt & qum wow b

(A) orqtud fet (Longitudinal fissure)
(B) e MR

(C) om witr=asg (Diencephalon)
(D) widw &

(E) ¥of@ 9

Minimum distance required by a normal
human eve to see the objects clearly is:

20 cm
30 cm
40 cm

(A)
(B)
(C)
(D)
(E)
amg @i & fo me w § e & B &
g i ¥

(A) 20 @0

(By 30 #d

(C) 40 gH

(D) 25 a4

()  srafe wes

%o

25 ¢m

Question not allempied

scparates the cercbrum into | g9

Humap heart is
““'-'lﬂhmnnuﬁ
(A)
(B)
(C)

protecied by o doys
h"ﬂﬂ-. known as5:
M“D'i-‘ﬂrdium

Pericardiym
Endocardiym

(D) Atrig

(E} " Question not attempted

T ¥ v - firi e dm
ﬂmt.ﬁ{ﬁ_____mgl L
(A) el (Mesocardium)

(B)  wamrofgz (Pericardium)

(C) stk { Endocardium)

(D) wf#m (Atria)

(E)  safm wwm

le wallg,

Which of the following drugs are used fior
the treatment of Leprosy?

. Rifampicin

2 Dapsome

3. Pyrazinamide
4.  Clofazinine
5. Bedaguilline

Choose the correct answer from the options
given below:

(A) 1.2, 4and 5 only

(B) 1,3 and 5 only

(C) 1,2 and 3 only

(DY 1,2 and 4 only

(E) Question not attempted

Frefafaa o & B el @ Twm geim &
v & foro ey omn k7

Trigfafas

am

TATTRATHIR S

TFATEAA

a1 firg o fremea o & w8 SOt @ TaE A
(A) ¥am 1,2, 4 a5

(BY %= 1,3 &3

(C) %@ 1,243

(D) aw 1, 2 @ 4

(E) i@ we

| 11

!



